Electrons in Atoms Worksheet

How many atoms are in the following compounds? (Only number of atoms)

a) Hydrogen

b) Sulfur

c) Oxygen

d) Magnesium

e) Arsenic

f) Chlorine

g) Nitrogen

h) Bromine

i) Vanadium

j) Neon

k) Radon

) Calcium

m) lron

n) Fluorine

o) Barium

p) Chromium

q) Phosphorus

r) Copper

s) Scandium

t) Boron



Electrons in Atoms Worksheet

Answers

a) Hydrogen s
b) Sulfur ~[NeJ3s23p*
¢) Oxygen o nelaseet
d) Magnesium ~ [Nel3s*
e) Arsenic o £A_r]_3gl1i 152_4_pi _____
f) Chlorine _ [Nel3s?3p>
g) Nitrogen ~ [Hel2s2p*
h) Bromine o £A_r]_3gl1i 4152_4_pj _____

i) Vanadium [Ar] 3d3 452

j) Neon ____ Hel2s%2p°

k) Radon [Xe] 4f'°5d'°6s%6p®

) Calcium [Ar] 4s*
m) Iron [Ar] 3d° 452

n) Fluorine ~ [Hel2s?2p>
o) Barium o _[X_e]_6_52_ _______
p) Chromium [Ar] 3P4s'
q) Phosphorus [Ne] 3523p®

) Copper i
s) Scandium [Ar] 4523d’

t) Boron [He] 25*2p"
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